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Question Numbers : (1 to 20)
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x>y?

x>y

{I) xlSU > y150

M) x5 <y

Options:
1. % 1
2.9¥ 2
3. % 3

4, % 4



Question Number : 2 Question Id : 7856743747 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Find the straight line I: ax+ by +c¢ =0.

[: ax + Dby +c=0./p 1

(I)  Ipasses through (1. 1)

-;l:.d‘;';f&{ [, DI

(I) I crosses x-axis at (2, 0)

-3/ ex-axis 42, 0)-11

Options :

1. % 1

Question Number : 3 Question Id : 7856743748 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



. x+8y
What 15 the value ufz =

x—4y

’ « Ax+8y
2o f——
9x-4y

Options:

Question Number : 4 Question Id : 7856743749 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What 1s the first term of the Arithmetic progression?
S ed J.-',E:'u.-:upmgrcssi{m@u

(I)  The sum of the first 6 terms of that progression 1s 78.

g i
_;_78;wlj:,L‘@;ﬁ%gip['@gMSl(}WL [

(I)  The sum of the first 10 terms of the progression is 210.

21048 Sebagpl 02£L progression (/111

Options :

Question Number : 5 Question Id : 7856743750 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



What 1s the highest value of n such that 2" divides m?

e fin 2" 2 A ek
(I) 40 divides m.

-;.L‘:f fﬂ m 40,1
(II) 288 divides m.

<t/ fm 288,11

Options :

4.9 4

Question Number : 6 Question Id : 7856743751 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Whatis the area of the AABC ?

/¢ JKDABC &k

(I) AB+BC=7
(I) CA=5

Options :

1. % 1

Question Number : 7 Question Id : 7856743752 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



How much will it cost to put a fence around a rectangular field?

-~

s ML LA™

(I)  The ratio of the length and breadth of the rectangular field 15 8 : 5.

-c,_wdx 5 !;:;J!UUQJUII
(I)  The cost of one meter of fence 1s Rs.100.

= a’

-4'.::.%}110( | f:.-EjJL/',U-“

Options :

4.9 4

Question Number : 8 Question Id : 7856743753 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Is P, the father of Q7

- AKQ ‘P
(I) @ 1s a daughter of P.
eGP Q.
(I) P 1s the mother-in-law of R.

< JWR* Pl

Options :
1. % 1
2.9¥ 2

3.# 3

Question Number : 9 Question Id : 7856743754 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If pgr >0 isq°r’p® <0 ?
ngr > 0¢°rp8 < 0 /)

O r<0
@M q>0

Options:

1. % 1

Question Number : 10 Question Id : 7856743755 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



What 15 the volume of a cylinder whose height is 16 cm?
Py " - e = "
<16 em{igsgyEny f scylinder ]

(I) The cylinder 1s made of iron.

-cInt¥e/Cylinder -1
(IT) The diameter of the base 1s 16 cm.

- 16 cmPdg il

Options :

Question Number : 11 Question Id : 7856743756 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the adjacent figure, what is ZB0OC ?

-;i_l:'ﬁlhf'jLB OC Jasui§ /L1

(=1}
(]

(I) £BAC = 60"
(I) OB=6cm

Options :
1.9 1
2. % 2
3. % 3

4. % 4

Question Number : 12 Question Id : 7856743757 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Ramu and Ravi start a business jomtly. What is Ramu'’s share out of an annual
profit of Rs.50000.

250000 .A?L,CCZ:-L}‘;UL'KFIJ- 12 S0 A, .“l./LfJu;udJ.u}!r’b
(I) Ravi’s investment 1s 25% more than Ramu’s investment.
A 25% e S S K S
(II) Ramu’s mvestment is Rs.175000.

- 1750004 81,11

Options :

1.9 1

Question Number : 13 Question Id : 7856743758 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



How many girls are there in that class?

i g v
AU LB
(I) The number of boys in the class 15 72.

ar if
-.{.72 ERISIA |
(I) 12 times number of girls in the class is equal to 7 times number of

boys 1n the class.

e AU i s Sl enl2 |l

Options :

Question Number : 14 Question Id : 7856743759 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



What 1s the Median of the data containing a set of observations?
-,!fq‘,'h}::lbﬂfﬂ-utj-‘f’}
(I)  The Mean of the data 1s 78.

_@73 :3Lbr_sller‘-]
(I)  The Mode of the data 15 77.

17 Modetss Il

Options:

Question Number : 15 Question Id : 7856743760 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



What is the product of 5 positive real numbers which are m the Geometric
Progression?

-UiGeometric Progression2-£x/c A o5
(I) Sum of the 5 numbers 1s 386.
_.'.:.38611,5J‘JJ'11515 -l

(I) The third term is 42.

B2 el Al

Options :

Question Number : 16 Question Id : 7856743761 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What day of the week Mr.X birth day comes this year 20237

_fﬁu'ﬁirfiﬁrdjiﬁl’fﬂ Vo 2023 LU
(I) Last year his birth day was on Wednesday.
B2 Ay Pl 127 e
(II) Mr.X was born in the month of February.

Attt LS X

Options :

Question Number : 17 Question Id : 7856743762 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Who is thetallest among 4, B, C'?

-{_Hp;&};__—fu;{ufﬂ\, B.C
(I) B is the father of C.
- A8C " Bl
(II) A s the only son of C

B ATI

Options :
1. % 1

2. % 2

Question Number : 18 Question Id : 7856743763 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Is Mr.X mtelligent?
-;T».L;,;!,EX /V _L;r

(I) All doctors are intelligents.

g (b,
-U.?O;T-’ur,:' Ijrlf-l
(II) Mr.X 1s an engineer.

e AILX Il

Options :

Question Number : 19 Question Id : 7856743764 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the perimeter of AABC ?

- twifperimetersAABC

() AB+BC=14
(I)  AB.BC =48

Options :

1. 8 1

Question Number : 20 Question Id : 7856743765 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Who 1s youngest among 4, B, C'?
et A, B, C

(I) B is a brother of C.

e J¥C B

(I) A 1sa daughter of B.

<GB A

Options :
1. % 1
2. % 2

3. 3

4.¥ 4

Sub-Section Number : 2
Sub-Section Id : 785674416
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 21 Question Id : 7856743766 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving



In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill m
the blanks appropriately.

* i : =, -"‘ r
fL AL L Obeisn)el o (fland osf D pt 2130 21y

. & r : - T : [ b 4
LUk S oe it S e L LSRG 09

AEF : BIJ :: NQR :
(1) OuVv
(2) OVU
(3) UVO
(4) VUO

Options :
1.9 1
2. % 2
3. % 3

4. % 4

Question Number : 22 Question Id : 7856743767 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__,ﬁ’_—;my



In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill m
the blanks appropriately.

* i : =, -"‘ r
fL AL L Obeisn)el o (fland osf D pt 2130 21y

. & r : - T : [ b 4
LUk S oe it S e L LSRG 09

APRIL. : 64 :: JULY

(1) 248
2) 343
3) 363
4) 412

Options :
1. % 1
2.¥ 2

3.# 3

Question Number : 23 Question Id : 7856743768 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

h.-r')uz/:-wulf



In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill m
the blanks appropriately.

* i : =, -"‘ r
fL AL L Obeisn)el o (fland osf D pt 2130 21y

LW U ot i {5 e & F L §020 09
MANGO : QIPCO :: ORANGE :

(1) GIPCTE
(2 OWCTE
) GIPCTO
(4) OIPCTIQ

Options :
1. % 1

2. % 2
3.¥3

4, % 4

Question Number : 24 Question Id : 7856743769 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving



In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill m
the blanks appropriately.

* i : =, -"‘ r
fL AL L Obeisn)el o (fland osf D pt 2130 21y

. & r : - T : [ b 4
LUk S oe it S e L LSRG 09

: HDGF :: FILM : ADGH

1) LINK
2) BALD
3) NAME
4) MILK

Options :
1. % 1
2. % 2

3. 3

4.¥ 4

Question Number : 25 Question Id : 7856743770 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

_if)w’;:ﬂlr



In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill m
the blanks appropriately.

* i : =, -"‘ r
fL AL L Obeisn)el o (fland osf D pt 2130 21y

. & r : - T : [ b 4
LUk S oe it S e L LSRG 09

LM : 1213 :: :21@23
(1) UXW
(2) U®X
(3) VW
(4) VX
Options :
1.41
2. % 2
3.% 3
4. % 4

Question Number : 26 Question Id : 7856743771 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

h.-r')uz/:-wulf



In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill m
the blanks appropriately.

* i : =, -"‘ r
fL AL L Obeisn)el o (fland osf D pt 2130 21y

. & r : - T : [ b 4
LUk S oe it S e L LSRG 09

GKXP : < PLTR ERQX

1) CPTU
2) DQUV
DRVX
4) CQSZ

P’

3

S’

(
(
(
(

Options :
1. %1
2.9 2
3. % 3

4. % 4

Question Number : 27 Question Id : 7856743772 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__,ﬁ’_—;my



In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill m
the blanks appropriately.

* i : =, -"‘ r
fL AL L Obeisn)el o (fland osf D pt 2130 21y

. & r : - T : [ b 4
LUk S oe it S e L LSRG 09

2334.20 :: 5475;

(1Y 35
(2) 27
(33 29
(4) 30

Options:

1. % 1

2. % 2

3.% 3

4.4 4

Question Number : 28 Question Id : 7856743773 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__,ﬁ’_—;my



In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill m
the blanks appropriately.

* i : =, -"‘ r
fL AL L Obeisn)el o (fland osf D pt 2130 21y

. & r : - T : [ b 4
LUk S oe it S e L LSRG 09

14(2) : 30(3) :: 330 (___ ) : 105(3)

(1) 2
(2 4
(3) 3
4) 5
Options :
1. 8 1
2.9 2
3.# 3
4, % 4

Question Number : 29 Question Id : 7856743774 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving



In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill m
the blanks appropriately.

* i : =, -"‘ r
fL AL L Obeisn)el o (fland osf D pt 2130 21y

. & r : - T : [ b 4
Ll ,__{)/L,,'::-J'?JLU zé;;;f:ﬂl5\._.‘-”-5_.?&.::.&_.*’54;};20;’::

DRFRH : 4Q6Q)8 :: 122Q24Q 26

(1) UQVEW
(2) VOQWEX
3) XQYRZ
4) VRXEZ

Options :
1. % 1
2. % 2

3.# 3

4.4 4

Question Number : 30 Question Id : 7856743775 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

h_f}w’:.wﬂb"



In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill m
the blanks appropriately.

- o . 2 Fi 4l r
ILA LG L G i) (ianlos) vt 213020y

. & r : - T - [ b 4
LUk S oe it S e L LSRG 09

ABCdef: DEFghi :: PQRstu :

(1) XYZxyz
(2) YZAyza
(3) STUvwx
(4) TUVtuv

Options :

Sub-Section Number : 3
Sub-Section Id : 785674417
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 31 Question Id : 7856743776 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving

ey

Note ; Inquestions numbered 31 to 35 pick the odd thing out

Stz f.xr..*.';‘;:ri’» 1-35= 1y 1y

X2+x+1=0, x*+4x+4=0, x*+6x+9=0,

X +8x+16=0, x*+12x+36=0,x*+14x +49=10
() x*+x+1=0

2) x*+4x+4=0

3) x*+6x+9=0

4) x*48x+16=0

Options:

Question Number : 32 Question Id : 7856743777 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

— ey

Note : Inquestions numbered 31 to 35 pick the odd thing out

" f@—&__.:;l,!ﬁf.f,:;‘;:f}1-35:«%’ O



CROW. PIGEON, HEN. PARROT. KING FISHER

(1) CROW
(2) PIGEON
(3) HEN

(4) PARROT

Options :

Question Number : 33 Question Id : 7856743778 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

h_.a)m’:.sﬂl_r’

Note ; Inquestions numbered 31 to 35 pick the odd thing out

sl f.xr..*.';":r[?} 1-35= 1y 1y



1.2:5; 2,3, 8 3,3, IT; 9,7, 37, H; 13; K5; 13; V7, 223; 17,19, 325

(1) 1.2.5

—
o ]
S
[}
L)
[ ]

3,137

—
L]
p—

- ]

4) 17,19, 325

Options:

Question Number : 34 Question Id : 7856743779 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__fﬁ’:‘ulr

Note : Inquestions numbered 31 to 35 pick the odd thing out

Soseliz i’.xr..*.';":rt?} 1-35= 11y 1



(3.4.5).(9,40,41), (15, 112, 113), (11, 60, 61), (21, 220, 221), (13, 84, 85),

(11,61, 62)
(1) (15,112, 113)
(2) (11,60,61)
(3) (11,61,62)
4) (21,220,221)

Options:

1. % 1

2. % 2

3.¥3

4, % 4

Question Number : 35 Question Id : 7856743780 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__fﬁ’;ulr

Note : Inquestions numbered 31 to 35 pick the odd thing out

Soseliz i’.xr..*.';":rt:’& 1-35= 11y 1



Lake. Pond, Pool. Tank, Brook, Sump

(1) Lake
(2) Brook
(3) Pond
(4) Tank

Options :

Sub-Section Number : 4
Sub-Section Id : 785674418
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 36 Question Id : 7856743781 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__fﬁ’:‘ul_r

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

s U6 S oy it i isd LKL 1 36-45 2



{22 Lo a5
373 3'3
10
1 -
(1) 3
(2) 2
il
B =
(3) 3
(4) 4
Options:
1. % 1
2.9 2
3. % 3
4, % 4

Question Number : 37 Question Id : 7856743782 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

— ey

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

S0 S ol st it LKL 23645 1



196. 16. 144. 36. . 64, 64, 100, 36. 144

1 72
2) 86
(3) 94
4) 100

Options :

Question Number : 38 Question Id : 7856743783 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

s U6 S oy it i isd LKL 1 36-45 2



250,1662,125.100,83%. ok

?13
(1) 717
?31
2y 43y
?52
(3) 753
?61
(4) 767
Options :
1.9 1
2. % 2
3. % 3
4. % 4

Question Number : 39 Question Id : 7856743784 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

— ey

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

S0 S ol st it LKL 23645 1



0. 6. 24. 60, 120, 210, . 504,720

[a—

280

— — o~ o~
- L k-2
S e et
o
o
-

Options :

Question Number : 40 Question Id : 7856743785 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

e iy

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

s U6 S o it it LKL 1 236-45



9.25.49:121. 169, . 361

289

Question Number : 41 Question Id : 7856743786 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

Note : Each of the questions from 36 to 45 follows a definite pattern.
observe the same and fill in the blanks with suitable ones.

s 0B ol st i i LKL 1 E36-45 1



5. 8 -2 81 -5 285
FET R ETRE R T e

W 13
—16
D
3 15
—18

Options:

Question Number : 42 Question Id : 7856743787 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

— ey

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

S0 S ol st it LKL 23645 1



2187, =729 243 =81, e s |

(1) 36

Question Number : 43 Question Id : 7856743788 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

Note : Each of the questions from 36 to 45 follows a definite pattern.
observe the same and fill in the blanks with suitable ones.

S0 ol st i KL 23645 1



6. 24, 60, 120, 210, ., 504, 720

(1) 294
(2) 316
(3) 320
(4) 336

Options :

1. % 1

2. % 2

3.% 3

4. ¥ 4

Question Number : 44 Question Id : 7856743789 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

— ey

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

S0 S ol st it LKL 23645 1



's'g’17'13"37 '65"41
24
(1} 25
31
2) 32
42
38) =
56
(4) 37

Options:

Question Number : 45 Question Id : 7856743790 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

Note : Each of the questions from 36 to 45 follows a definite pattern.
observe the same and fill in the blanks with suitable ones.

s 0B ol st i i LKL 1 E36-45 1



5,7, 11,19, 335, ;131,259,515

(1) 67
(2) 82
(3) 96
(4) 120

Options :

1.9 1

2. % 2

3.% 3

4, % 4

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Is Section Default? :

5
785674419
No

null

Question Id : 7856743791 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 48)
Problem Solving

(b) Data Analysis

Al - (b)



The graph below shows the exports of a metal by a company in the months
January to June (in thousand tons). Based on the information answer the
questions 46 to 48,

4846 4:L_AJL.»:_uﬁt‘d.fﬁﬁ_f_fd:ﬁ"djcxports _-,un',;a%f St b
elinl ey

120

110
110

100
100

80

a0 90

10
10

60
Janauary Fehmary March Aprd May June

Sub questions

Question Number : 46 Question Id : 7856743792 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__.-)w":aﬂlr

(b) Data Analysis
:‘f-:dﬂf‘ i (b)



The percentage increase in the exports in the month of May over the month of
January 1s

oo ) Jelud Jtexports oG o (e B LR

Question Number : 47 Question Id : 7856743793 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__r}m’_‘:«lﬂr’

(b) Data Analysis
7§y - (b)



The percentage of decrease m exports n March compared to the February month
18

i & » .
e Jlesl JEtexports LB AL B L

Question Number : 48 Question Id : 7856743794 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

.Tf)w’.:aﬂlr’

(b) Data Analysis
2 6 - (b)



The average exports per month ( i thousand tons) in the given period is
- S ' : . . .
e b fe el s s LIl llzexportshoy

(1) 90
(2) 108
(3) 30

Options :
1.9 1
2. % 2
3.% 3

4. % 4

Sub-Section Number : 6
Sub-Section Id : 785674420
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856743795 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (49 to 51)
Problem Solving

T)w/'u:-ﬁ.ul!’"

(b) Data Analysis
:‘)’-:Lfﬁ'f' - (b)



The budget allocation of a civic corporation in a vear under 5 major heads A. B,

C.D and E are depicted m the Pie chart. Based on the data answer the questions
49 to 51.

JA, B, C:.LLﬁ:a!-%ﬂ)dé-lﬁﬁuﬁcatiﬂﬂfu%J{JKJ!{L{IJ:JALQSLJVU/
“Zoe 251049 v i L‘LL—CL-’,/?U; Vs u.*-f.fk}( DulE-

F

*A? =B 60" «C 62" «D 72" «E 76"

Sub questions

Question Number : 49 Question Id : 7856743796 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

_'.-}Lb":ﬁﬂfr

(b) Data Analysis
LTI



If the budget allocation under D 15 Rs.150 crores, what 1s the total budget of the
corporation (in crores of rupees) ?

St Lot R K e s 1500 S LD ot

[e——y
R

1250
1000
900
4) 750

| ]
e

,_‘_,_.‘_,_“,_x
L]
—r

Options :

Question Number : 50 Question Id : 7856743797 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(b) Data Analysis
77 - (b)



Out of the total budget what 1s the percentage of the budget allocated to the heads
B and E together?

=8 ;lﬁ*;,,fur::,,;f.é.ﬁi:,un,;;ll ExsByads

B

A=

9

2) 4

36—

9

5 2

3) 3ct

9

(4) 1

: 34—

9

Options :

1.9 1
2. % 2
3.% 3
4. % 4

Question Number : 51 Question Id : 7856743798 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(b) Data Analysis
A5 - (b)



L y 1B
Which head receives jh of the total budget?

— o~ — —
-t L] | ] bt
=2 — = W

Options :
1. % 1
2.9 2
3. % 3

4, % 4

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

T
-‘;"_yi:.ﬁb/..*.-f'.@}; ek

7
785674421
No

null

Question Id : 7856743799 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (52 to 55)
Problem Solving

(b) Data Analysis

_‘f}w’_".«lﬂr'

27 Saly - (b)



In the Venn-diagram the sets U, A. B and C are defined as follows:

u
o/ X \A
| (0 (s F )
U= {x|xisanatural numberand x <30} | | i/ )
A= {x|x €Uand x 1sodd } N '/"“f_j d
B={x|x € Uand x 1s even } M._, ‘ '
C = {x|x € U and x 1s multiple of 3 } \‘ __I, - C

Based on this data answer the questions 52 to 35

_;_?"L,f’l_/ulguiufj.,/f(}:!U, A, BeryiVenn-diagram LI
U= {x|x-cmmd® Lix < 30

A= {x|x € Usxsub

B = {x|x e Unixsucs.

C={x|x € U;J!x:xrr“E' §3

arel2 L5505 Uy e sa Iy
Sub questions

Question Number : 52 Question Id : 7856743800 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__,ﬁ’_—;my

(b) Data Analysis
:‘f:;dﬂf‘ i (b)



In the Venn diagram which are the null sets ?
il L ! : /I? /
-t snull setsy2Venn diagram& &

(1) Gonly

(2) Tonly

(3) GulJonly

(4) GUITUF only

Options:

Question Number : 53 Question Id : 7856743801 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

.Tf)w/'.:aﬂlr’

(b) Data Analysis
2 6 - (b)



Which of the following sets have equal number of elements ?
o ; :
-Uﬁd’.;_ﬁbfdjbﬂqd.:{;dub#

(I) LH
(2) D.H
) LE
4) EF

Options :

1.9 1

Question Number : 54 Question Id : 7856743802 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__-)w’_‘&UW’

(b) Data Analysis
Al - (b)



If n(X) denotes the number of elements in the set X, then n(DUE UF) =

n(DUE UF) = flendf v deiXe n(X)/

Options :

Question Number : 55 Question Id : 7856743803 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__fﬁ’:‘ulr

(b) Data Analysis
£ G - (b)



If n(X) denotes the number of elements in X, then n(U —(AucC }) =

n(U — (AU €)) =Fetf b e st X “n(X) /

(3) 10
4) 15

Options:

3.3

4, % 4

Sub-Section Number : 8
Sub-Section Id : 785674422
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856743804 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (56 to 60)
Problem Solving

ey

(¢) Coding and Decoding Problems

el L3303 - (c)



The letters of English alphabet are coded as follows:
(1)  Fust 13 letters A. B. C. D. ... . M are to be coded respectively to M. L.
K.J. .... A (inreverse order).
(i) Remaining 13 letters N, O. P. Q. ... . Z are to be coded respectively to
Z.Y. X, W, ....N (in reverse order ) .
(1) For decoding the reverse process has to be followed.

Based on this data answer the questions 56 to 60.

BLE s L H
(LM, LK, J, .., A/A, B,C, D, .., Mz 13& (i)
ZY,X,W,.,.NN,0,P,Q,..,Zo713% (i)
bWy A2 L Decoding (i)

Bk 2 L6056 Uy kS|

Sub questions

Question Number : 56 Question Id : 7856743805 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__.-ﬁ’.tﬂlr

(¢) Coding and Decoding Problems

el L3 L3 - (c)



What 1s the code for MARKETING?
< HEMARKETING

(1) AMVCITEZG
(2) ANWDIUCZG
(3) AMUCITBYG
(4) ARXEISCVG

Options:

Question Number : 57 Question Id : 7856743806 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(¢) Coding and Decoding Problems

e L3303 - (¢)



What 1s the code for word CONSUMER ?

7

W& LCONSUMERS

(1) KZYVTSBE
(2) KYZUSAIV
(3) KXUZTBVI
(4) KUZXBVTE

Options :

Question Number : 58 Question Id : 7856743807 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__fﬁ’;ul_r

(¢) Coding and Decoding Problems

el L3303 - (c)



What 1s the code word for BUSINESS ?

<& LBUSINESS

(1) MTWDAIXX
(2) LSVEZIVV
(3) LSUEZIUU
(4) MTVDAIYY

Options :

Question Number : 59 Question Id : 7856743808 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__-)Lb’_“.nmr’

(c) Coding and Decoding Problems

:.U!r.ff:fdj,z;ljﬁ:r- (c)



What are the letters that remained unchanged (left invariant) after the coding?

LaJl ) Mifi;ﬁ?u{?.ﬁf A

@) MN
B3) LW

4 T,G

Options :

Question Number : 60 Question Id : 7856743809 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__fﬁ’;ul_r

(¢) Coding and Decoding Problems

el L3303 - (c)



Which word 1s coded as THUMHE ?

V3 b LTHUMHES 2 S

(1) TFASIF
(2) TFASIA
(3) TFSAF]
(4) TESAFI

Options:

4. ¥ 4

Sub-Section Number : 9
Sub-Section Id : 785674423
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 61 Question Id : 7856743810 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(¢) Coding and Decoding Problems

el L3303 - (c)



If VIRUS is coded as UHQTR then the code for MASK 1s

K2 LMASKIZ by code ¢ ZUHQTRYVIRUS/

(1) LZRI
(2) LRZ]
(3) LIRZ
(4) LZIR

Options :

1.1

2. % 2

3.% 3

4, % 4

Question Number : 62 Question Id : 7856743811 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

h_.a)m’:.sﬂl_r’

(¢) Coding and Decoding Problems

:-U!Fjj!rdjjﬂjj:r‘- (c)



The PINK 1s coded as JQLO then BLUE is coded as

bl BLUETZ b3 JQLOSPINK]

(1) XNUE
(2) XNEU
(3) XUNE
(4) XEUN

Options:

1. % 1

2.9 2

3.% 3

4, % 4

Question Number : 63 Question Id : 7856743812 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__-)Lb’_“.nmr’

(c) Coding and Decoding Problems

:.U!r.ff:fdj,z;ljﬁ:r- (c)



In a code language 1f TRAIN 15 coded as UQBHO. then PLACE 1s coded 1n that
language as

K2 U UYPLACETZ LY UQBHOSTRAIN It uh d L3

Question Number : 64 Question Id : 7856743813 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(¢) Coding and Decoding Problems

el S S35 - (c)



REJECTION 1s coded as SGMIHZPWW then in the same code language the
word MECHANIC is coded as

LU UYMECHANIC i b3/ SGMIHZPWWYREJECTION /|
£

E—
W’

NGFLFTPK
NGPLFTPK
NGFKFTPK
4) NGPTPKIL

-2
p—

L
—

Options :

Question Number : 65 Question Id : 7856743814 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(¢) Coding and Decoding Problems

el L3 L3 - (c)



If SWEDEN is coded as 123435 and GLAND 1s coded as 67854, then the code
for ENGLAND 15

WU YENGLANDIZ bi/3/67854/GLAND 412 bl/34123435/SWEDEN/)

Kby
(1) 3567854
2) 1267854
(3) 3267854
(4) 1367854
Options :
1.4 1
2. % 2
3. % 3
4. % 4
Sub-Section Number : 10
Sub-Section Id : 785674424
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 66 Question Id : 7856743815 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

__fﬁ’:‘ulr



(d) Date, Time and Arrangement Problems

el ess G- (d)
Which day falls on 18™ Au gust 20227

BTyl 20225 118"

() Thursday 27
(2) Tuesday Jﬁ'
(3) Wednesday > M,
4 Friday +

Options :

1.¥1

2. % 2

3. % 3

4, % 4

Question Number : 67 Question Id : 7856743816 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(d) Date. Time and Arrangement Problems

ey eds ‘G- (d)



What 15 the angle between the hour hand and minute hand m the wall clock when
the time shown in the clock 1s 8.25 am?

# Ll ! P .
U825 LE it B et Gl nL o n i B o i

(1) 98°
(2) 100.5°
(3) 102.5°
4) 115°

Options :

Question Number : 68 Question Id : 7856743817 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(d) Date, Time and Arrangement Problems

el ess G- (d)



The time between 9 O’clock and 10 O’clock at which both hands of a clock are
together is

Sl ALE IS ASE 1004290

(1} g d o :
49 Hmm;past 90 clock

! i i
£90 2 49—

.-}

-

48%znin.past 90 clock

£90 i 48,

(3) 50 min.past 9 0'clock
£90 e50

(4) 45min.ast9 0 clock

£90 245

Options :
1.9 1
2. % 2
3. % 3

4. % 4

Question Number : 69 Question Id : 7856743818 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(d) Date, Time and Arrangement Problems

eliveds G- (d)



If X 1s mother of Y. Y 1s father of Z and P is a sister of Z. then P 1s related to X as

- - e L . "’ Fh
e BN PXP e X P KL Y e pY * XS

1) Grand mother
2) Grand daughter
3) Niece

4) Maternal aunt

P — p— p—

Options :

Question Number : 70 Question Id : 7856743819 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(d) Date, Time and Arrangement Problems

eliveds G- (d)



Rita comes to Railway station at 10.20 am and finds that she 15 40 nunutes early.
But the train 1s runnmg 20 minutes late. What 1s the right schedule time of
arrival of the train?
: .. | 2 i ‘sb
Feard0 I e Theb0 v S 3 e FLsE 1020/ bt
-q.yfcjjb/éuwifgjf-ﬁ:.ﬁ;

(1) 10.50 am
(2) 1040 am
(3) 10.35am
(4) 10.30 am

Options :

1. % 1

2.9 2

3.% 3

4. % 4

Question Number : 71 Question Id : 7856743820 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

ey

(d) Date, Time and Arrangement Problems

el ess G- (d)



A person starts from the point P at 9.20 am and travelling with a speed of 45
kmph, he reaches the point Q at 10.40 am. Had he travelled with a speed of 75
kmph instead of 45 kmph, the time of arrival at the point Q 1s

£10.40 4 Que e iuS 288 2 $85 e DB Prles [ 10920 F )
-;.y/:jsb/%.{-'f.g:l;();@c& L—JBJL{JJ J' A ¥ 75”;!_?,:5%;

) 9.56 am

) 10.12 am
) 10.08 am
) 10.00 am

(1
2
3
(

4

Options :
1. % 1

2. % 2

3.¥3

4, % 4

Question Number : 72 Question Id : 7856743821 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

(d) Date. Time and Arrangement Problems

elivyEss G- (d)



Six members of a family A. B, C. D, E and F are sitting around a table all facing
the centre of the table such that

(1) A 1s directly opposite of B and to the immed:ate right of C

(11) Eisnotnextto Aor F

(111) B 15 to the immediate left of F and immediate right of E:

(1v) D 1s between A and B;

What the order of their seating arrangement starting from A to the right?

et ST S UE A, B, C, D, EdA6L o)
ke e P LChc s ALBA ()
e bnohLF SAE (i)
-cﬂ:.ﬁ)LdﬁJiEﬂU.f@yﬂiFugL (111)

< slBiA D (iv)

ABCDEF
ACBFED
ACTDEB
ACFBED

— —
[} —_

—
L]
o . S

Options :
1. % 1
2. % 2

3.# 3

4.4 4

Question Number : 73 Question Id : 7856743822 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving

h.-r‘)w/' o Ul
(d) Date, Time and Arrangement Problems
el ess G- (d)

, b
Let a. b be any two real numbers. If a * b = a® + b, adb = a—b, then

(3 + 4) = (442) =

a—b
a+hb

(3+4)+ (442) =~a+ b = a® + b * abb = —_ i wb ‘0 o/ )

(1) 508
)
(2) 307
3
(3) 208
3
(4) 305
3
Options:
1.9 1
2. % 2
3.% 3
4. % 4
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Problem Solving

h_.a)m’:.sﬂl_r’

(d) Date, Time and Arrangement Problems

el ess G- (d)

If@ﬂlld@ﬂl‘&dfﬁllﬂ(lb&'p@ﬂZm-l-% andp@qz‘fp?—%

veq

e 1  — 1 ~ #
PO =P ® 4= pg +2S0Q/

(1) 30
2 1
30
3) 30
@ L
V30
Options :
1.1
2. % 2
3.% 3
4. % 4

Question Number : 75 Question Id : 7856743824 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving
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(d) Date, Time and Arrangement Problems

el ess G- (d)

For positive integers m,n. definem @ n=2m+ 3n+ 1 and

mOn=m’nthen 3RO A1) =

“m@n= mn‘m ®n=2m+3n+ l.égfufm, n ‘intege rs.u.f
B®2O(AQD=
(1) 1356
(2) 2028
(3) 1014
(4) 1756

Options :

Mathematical Ability

Section Id : 78567456
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75

Number of Questions to be attempted : 75



Section Marks : 75

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 785674425
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 76 Question Id : 7856743825 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability

Ifa* = b = ¢t and abe = 1. then—— =
Xty

Xy ; : i
i :__;'ax = b} = C4J}'ﬂb(: =420
xty -



Question Number : 77 Question Id : 7856743826 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
L. Arithmetical Ability

If 2774 =0%33 = 3¥ thep 2y 3y =

Q7L gt 9 95 435 = J]

(1) 30

3) 36
(4) 39

4. % 4

Question Number : 78 Question Id : 7856743827 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability

Ifab=2:3 andb:c=4:5, then(a+b):(b+¢) =

(a+b):(b+c)=—ab=2:34b:c=4: 5/]

Options :
1.9 1
2. % 2
3. % 3

4, % 4

Question Number : 79 Question Id : 7856743828 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability



A vessel contamns 100 litres of mixture of two liquids A and B in the ratio
3 : 1. How many litres of the liquid B is to be added to the vessel to make the
ratioof A:Bas1:37?

J vessel S1s 8 JB-;;..S leUBAA eV 2oy 2100 vessel

Ll 3 A BT

[ ] e
o e
—_ [ R}
e | L]
N =

— — — —
= (]
S /
—
-
=

Question Number : 80 Question Id : 7856743829 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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I. Arithmetical Ability



Ifx = 3y3 +/26. Ehenszrxizz
e fn 1
x=3V3+v26 & x2+x—2:f|

(1) 106
2) 53
(3) 108

Options :
1.9 1
2. % 2
3.% 3

4, % 4

Question Number : 81 Question Id : 7856743830 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability



J9+2JE—4\F—4\/§ =

(B V3442 -2
@) V3-v2-2
() V3+v2+2
@ V3-v2+2

Options :

1.9 1

Question Number : 82 Question Id : 7856743831 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability



The remainder when 22 is divided by 7 is

- ') . . #
Il <7/2”  remainder/ 1.3

Options:
1. % 1
2.9 2
3.% 3

4, % 4

Question Number : 83 Question Id : 7856743832 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
L. Arithmetical Ability



The number of all 4-digit numbers divisible by either 12 or 15 13

B e SE 1501223061 15y 424

(1) 1350
(2) 1300
(3) 1250
(4) 1200

Options:

Question Number : 84 Question Id : 7856743833 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability
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If the sum of two positive mtegers, each greater than 37 15 296 and if their
GCD 15 37. then their difference 1s

_.;.;.J,jl:fufL-,'L:.g.37&}&}&:@_-29633{.&;;37 ‘,;:;-ﬁlltcgcrséfiujl

(1) 111
2) 81
3) T4
4) o4
Options :
1. % 1
2. % 2
3.3
4, % 4

Question Number : 85 Question Id : 7856743834 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability



The smallest number to be subtracted from 3000 so that the resulting number
1s divisible by 7, 11, and 13 15

et ST 1311 4T ¢ il gl bl 2 3000230F 2o

(1) 998
Q) 975
(3) 963
(4) 875

Options :

Question Number : 86 Question Id : 7856743835 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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I. Arithmetical Ability



D H—g T = m——
1 4 2qtp
9
; 2151
(1) —
1355
) 2064
* 1355
(3) 1848
925
516
7 sl
) 305
Options:
1.9 1
2. % 2
3.% 3
4, % 4

Question Number : 87 Question Id : 7856743836 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability



Options :

1. % 1

Question Number : 88 Question Id : 7856743837 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability
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. 23 14 31 43
Ascending orderof a=—,b=—,c=—andd =—
. 25 15 32 45

-J'LJ Kol tsd_nf
23 14 31 43
e b e Sl R —

a e s =
25 15 32 45

(1) c¢db,a
(2) b,a,d,c
(3) ab,d,c
4) cadb

Options :

Question Number : 89 Question Id : 7856743838 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability
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The largest among the following rational numbers 1s

e bty e or fduirational f i

8 5 9 7
13'92° 11715
5
() —
12
7
7 S
. 15
8
(3
13
4) —
11
Options
1. 1
2.8 2
3. % 3
4.v 4

Question Number : 90 Question Id : 7856743839 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability
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In a fraction. if the numerator is mcreased by 20% and the denominator 1s
decreased by 20%, then the percentage by which the fraction increased is

- I : _.r’ ' ’ y # I.r“
L bhs/ ¢ F20% {denominator &b sy £20% Snumerator /1% / I

- bl e /fc.u'?q_:._ufdﬂ.’:u..}"

—_
p—

24
30
48
4 50

,_\ ﬁ ,_x ,_“
L] ]
e R

Options :

Question Number : 91 Question Id : 7856743840 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
L. Arithmetical Ability



The present population of a city 1s 1452000. It 1s increased by 10% each year
in the last 2 years and by 20% i the last third year. Then the increase in
population of the city during the last three years was

SFTALUAD 2 b I 10% o e 1452000 Saozrd P o
st ST LT UN3 2T b LR20% &

(1) 380000
(2) 412000
(3) 424000
(4) 452000

Options:
1. % 1
2. % 2

3.# 3

4.9 4

Question Number : 92 Question Id : 7856743841 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
L. Arithmetical Ability



A real estate agent sold two properties A and B each for Rs.391 lakhs. On the
first deal A he makes a profit if 15% and on the other B a loss of 15%. What
1s the final outcome of this transaction?

Ve p & e v/ e500e $51391 B A Usisbusagentsreal estate ]

e bnlf 5 e s . b1 5% B s tn S bl w4 15% A

W profit of 5% E¥s%

2 n

@) Loss of 5% 5%
() Tossof225%  ASK2.25%

W profitof225%  F¥225%

Options:
1. % 1

2.8 2

3.+3

4. % 4

Question Number : 93 Question Id : 7856743842 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
L. Arithmetical Ability
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When the prices of onions were reduced by 20%. a person could buy 10 kgs
more for Rs.1000. What was the original price of onions per kg?(in rupees)

t - t, z . & i - i : .
Sed Wi ta £l 00045107 L dind $20% 20 G/

;,5 &
-uxy:f
1 25
2 24
3) 23
4) 22
Options:
1.9 1
2. % 2
3. % 3
4, % 4

Question Number : 94 Question Id : 7856743843 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
L. Arithmetical Ability



Two persons P and Q started a business with mvestments m the ratio 4 ; 5
respectively. After 10 months. Q left the business. After 5 more months P
left the busmess and R joined it by mvesting Rs.64000 more than P’s
investment. If at the end of 20 months. the respective ratio between the profit
share of P to that of Q and R together is 2 : 3. then the mvestment of P and Q
together ( 1n Rupees ) 1s

Pocto e AsKQe LU 10. bt §4 - 56K A7 L AsKLIQuP
S 2 SP2 640002 (P BBt As AR setio e As Kl S
LQuP el : 3R QuiP e 322wl L 220 N1eraie

-’/|'*‘J"'j«*f..’f¢f"' '

(1) 128000
(2) 136000
(3) 144000
(4) 164000

Options :
1. % 1

2.8 2

3.¥3

4, w4

Question Number : 95 Question Id : 7856743844 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability
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P. Q. R started a business with mvestments in the ratio 5 : 4 : 6. After 6
months P added 20% more than the initial investment and at the same time R
withdrew half of the initial investment. If the profit share of Q 1s Rs.11400.
then the profit at the end of the year (in rupees) 1s

Sl mhi20% Pty 6.l Sl fUbun S5 4 6540 LR, Q, R
,ﬁufd'-j KQ )ﬁi-;,CJ,Ludu.ﬁ_wﬂme /&R ;J;L,fml-;.t-fdﬁ,_,l,/a.«p;.ﬁ J
KB L Jein1 1400

(1) 39150
(2) 39250
(3) 39400
(4) 39900

Options :

1. % 1

2. % 2

3.% 3

4.4 4

Question Number : 96 Question Id : 7856743845 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability



Two pipes A and B independently can fill a cistern in 6 hours and 8 hours
respectively. If both A and B are opened together, thenthe time 1t takes to fill

the cistern completelyis
A LA IS 1L A AR 6 cistern Ly 245 BAA L

LnnehT L LL Auicisternes bl J#
o
[y = 4%110111‘3

-

(2) 4% hours
14
(3) é 3; hours

L'? 1
4) 35 hours

Options :

1. % 1

Question Number : 97 Question Id : 7856743846 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability
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Pipes A and B can fill a tank m 20 min. and 30 nun. respectively. A dram
pipe C can empty the full tank in 15 min. Pipes A. B and C are opened
alternatively each for 1 minute i that order. The tmme (in minutes) taken to
fill the tank 15

ez l5 C AMLSS 2ot A 30 st e20{ B LB AAL
JL@W&:JF;.J)Z.:.VVQL,LMf..g!;(f #B ‘A ,..ig-.;,rfduiju’

e *
K Kpzdl »f‘_.f.r_./’"

(1) 105

3) 167
4) 187

Options :
1. % 1

2. % 2

3.3

4, % 4

Question Number : 98 Question Id : 7856743847 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
L. Arithmetical Ability
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Two trains A and B start from a station P at 8 am and 10 am and travel at
speeds of 50 kmph and 70 kmph respectively. After how many kilo meters
from P will they meet ?

P FE e il 2570 52550 MaGEE 10 ES < 1B AA UK

_U,'}’JJ‘ uﬂg@'ﬁkﬁfﬂ,ﬂ!f‘ﬁ%ﬁ&
(1) 350
(2) 360
(3) 380
(4) 400

Options:
1.9 1
2. % 2
3.% 3

4, % 4

Question Number : 99 Question Id : 7856743848 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability



A Doat can cover 34 km in still water in 6 hours. It can cover 210 km
upstream and the same distance in down stream in a tofal of 48 hours. Then
the difference of times taken by the boat to cover 72 km upstream and to cover
63 km down stream (in hours) 13

Sle (S Mo e e K210 e LS L L 2 K54 2P 620
e gl Li ) 2 bl A 724.:‘..};‘ &JU;Q:JVFJF!’J)QY‘& 48 i,
et iy e FOIL LS E iy fher iyl

(1) 25
(2) 3.0
3) 3.6
(4) 48
Options :
1. % 1
2. % 2
3.3
4, % 4

Question Number : 100 Question Id : 7856743849 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
L. Arithmetical Ability
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Three workers A. B and C can together complete a work 1n 10 days. After
working together for 4 days A leaves and B and C complete the work i 10
more days. If A works alone. how many days will he take to complete the
work?

<6 LSS Sk B LSS L0 LSICAB A S
uhzf(‘fu"lu}:ci-;ﬁ./ﬁf‘ﬂk(lﬁ\ )ﬁluj}’" ;'rfur:u)}};u10!'1"5/5'(_1}3'8}!@:.“?-.’#5

. ?f_.ﬁag (_,r:

Options :
1. % 1

2. % 2

3.¥3

4, % 4

Question Number : 101 Question Id : 7856743850 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability
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A certain number of women can complete a piece of work i 70 days. If there
werel2 women more, the work could be finished in 15 days less. Then the
number of women originally there 13

Lot FUIS LS it 12 S S uiT0f G

- .’?Uﬁfgrfﬁ Ak

i
p—
]
L

> LS | )
S’ e
4 ]
4= N

Options :

Question Number : 102 Question Id : 7856743851 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L. Arithmetical Ability
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A circular park is of 60 m in diameter. A three meter wide walking track is
prepared around and outside its perimeter. What 15 the area of the track
(in sq. m.)

b IAL 1Ky 23 Lle #60 diameter Keircular park

a3 Ktrack

(1) 180w
(2) 188m
3) 189m
4) 201m

Options:

Question Number : 103 Question Id : 7856743852 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability
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The length of one diagonal of a thombus 1s 80 cm and its side 1s 41 cm. What
i1s the length (in cm) of the other diagonal ?

L._JUIH;,( dia gunale:ﬁ:.élu“ﬁll ,:,-'l{ 5180 cdeJ diagonal Zrhombus{|

Question Number : 104 Question Id : 7856743853 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability



A rectangular sheet of metal of dimensions of 12m x 6 m is rolled to form a
cylinder with larger side as its base. The volume of the cylinder m cu.m. is

Kl Jeu.m f Kj,ﬁif'uﬂ-y@rb“:.:,fbf&ﬁbgiiﬁ_bﬁf LA 12mx 6 m

(1) 256
m
(2) 216
m
(3) 118
m
4 98
m
Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 105 Question Id : 7856743854 Question Type : MCQ Option Shuffling : No
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
L. Arithmetical Ability

Al I



i i i
If the surface area of a sphere is 5544 cm”, Then the volume of the sphere 1n
cubic centimetres 1s (take = 22/7)

(= 22/7) i/ Lrcu.cm FAéspherey ot 5544.};55 ¢sphere /]

(1) 38887
(2) 38708
3) 37808
4) 38808

Question Number : 106 Question Id : 7856743855 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability
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A room has a square base and is of height 4 meters. If the area of the four
walls 15 128 sq. m.. then the number of square tiles of side one meter required
to cover the floor i

Fo L9128 sq. m JJKulegJU';Jlgxriq.u’}’4 dLdeu’la.Lf‘;quarc 2/
'ﬁ rd * s "
AL i S BN (square tiles -

4.4 4

Question Number : 107 Question Id : 7856743856 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability
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A tent in the shape of a cone 1s to be erected having a base of 154 sq.m and a
height of 24 m.The cost of the canvas required at the rate of Rs.1000 per sq.m.
to make the tent (in rupees) 1s

; a = 7 4 - & ek i i
defidcanvas -<24 m dl,idufml;j.?lﬂ 5q.m 2 L rtent ‘Veone |

_(fﬁy’u’fugu)ﬂgﬁtﬂt?ﬁg@ }JI 000 per sq.m

(1) 550000
(2) 500000
(3) 480000
(4) 450000

Options :
1.9 1

2.8 2

4. % 4

Question Number : 108 Question Id : 7856743857 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I. Arithmetical Ability



A solid metal sphere of 12 cm diameter 1s melted and cast into a cylindrical
wire of diameter 4 mm. Then the length of the wire (in meters) 1s

4 mm cylindrical {if/1sictol B &5 3312 cm 2/sphere £ M)

Sl A et/ L e i

70

P—
p—

| ]
p—
1
~
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e

76
78

— — o P
=
e

Options:

Question Number : 109 Question Id : 7856743858 Question Type : MCQ Option Shuffling : No
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Let A and B denote the following binary numbers,
A=10011011, and B = 111011,

Then the decimal equivalent of A4+ B =

Vdecimal equivalent¥A +B = — A=10011011,,B = 111011,
K

(1) 216
2) 215
3) 214
4) 210

Options :

Question Number : 110 Question Id : 7856743859 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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If 245 =k (mod 13) , thenk =

k =245 = k (mod 13)/]

(2) 11
(3) 13

Options:

Sub-Section Number : 2
Sub-Section Id : 785674426
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 111 Question Id : 7856743860 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
II. Algebraic and Geometrical Ability
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If a set has 7 elements. then the number of subsets of A with atleast 2
elements 1s

- 2 ~ F ok - - #
e dusl-Lelements) < 21590 subsetsE Asvwelements 7yhe L1/

(1) 64
2) 78
3) 99
4) 120

Options :

Question Number : 112 Question Id : 7856743861 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

II. Algebraic and Geometrical Ability
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Let A and B be any two sets with m and » elements. If A has 192 more
subsets. than B. then m +n=

# £l - #
m+n=JUner 192L A 1.ynBaALSyinLelements naim/ |

4.¥ 4
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If a and P are the zeros of the quadratic polynomial

x% — 7x + 12, then (o + B2)(a —B) =

(@4 B)(a-P)=‘x*-Tx+ 12

fE—
e
2

- |

36
49

[ ]

,_,\ ,,_.\ ,___\ ﬁ
- LE )
: e

Options:
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1

If x -~ =5, thenx* + = =

X X
1 1 #
R 5,1._.:X4-|-_—4=)|
X X
) 727
(2) 627
3) 527
4) 427
Options :
1.9 1
2. % 2
3. %3
4, % 4
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If the polynomial 2x> + 3x* 4+ ax + b when divided by (x — 2) and
(x + 2) leaves the remainders 2 and -2 respectively, then (a,b) =

é.g»y?:j;.(x +2) “(x—2) /2% + 3x% + ax + b polynomial L1/’

(a,b) - .,FaE.L“,W—EJ:I.;.:ﬁUIJ%l;

Options :

4. % 4
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If the remainders of the polynomial f(x) when divided by (x — 1) and

(x—2) are 2 and 3 respectively. then the remainder when f(x) is divided by
(x-1)(x -~ 2) 15

A2 (x— )ui(x — 1) 4/, £ {15 _>f(x) ¢ remaindersépolynomial £

Sln(x—-1)(x—- 2)?2.%;.#?:3” Jf(x) remainder a2 A3

(1) x+2
2) Zx¥1
() =1
4) x+1

Options :
1. % 1
2. % 2

3.# 3

4.9 4
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A rational number is such that when we multiply the numerator by 2 and
added 2 to the denonunator it becomes 3 moreover, if we add 9 to the

: : . 3 .
numerator and multiply the denominator by 3 it becomes R Then that rational
number is

toxr3 01l /T2 Sdenominator sy s P2 SISl fUbarational ]
3 - " . r L i {-"L? » &
_g.ﬁgx; ne e e 3ddenominator sl /&9 Jinumerator rﬁf e

¢ . : .
/v urational

L 9
8
(2) 27
16
(3) 45
24
(4) 36
17
Options:
1. % 1
2.9 2
3. % 3
4. % 4
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A sum of Rs.900 is distributed among 3 persons. P. Q. R such that Q gets
Rs.45 more than R and P gets Rs.30 less than R. Then the amount P gets, in
rupees. 1S

RAP sitntic 1452 RIQ G puiits/E 47900020 P, QR

_jﬁ.|j JL,.?(!( P .Fufé.ﬂ ’%;13(}.:.
(LY ol
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If the roots of x* + 6x — 27 = O are a and B, then o + B3 =

S+ =y B xE+6x—27=0/
1) -712
2)  -700
3) =702
4) 702

Options:
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The sum of first 10 terms m an arithmetic progression 1s 20 and the sum of
first 20 terms is 10, then the 8™ term in that progression is

<10 #6020 e AT ku’ arithmetic progression{|

Kok /8t progressione

—

[

p—
“n

(=N & 5 N o B I =

Options :

4. 4
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If the sum of an infinite Geometric Progression 15 23 and the sum of the
squares of 1ts terms 15 69, then the common ratio 1s

d ; - i"'" hl ¥ ¥
- 09 1 gsquares Z.rfu“l,f,-l;.ZB 28 8¢ ) Geometric Progression {|

= P p
Dller/iy

(1) 15

13

2) 10

13

3) 23

26

4 25
26

Options:
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- (21‘[) ) (Srr) - (ST[) B
sin 3 + cos 7 . an v
(1) 1

2)

(3)

Lol T Y

d =

Options :
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cotf +tanf =2 = cosf =

. 1
m 1
V3
- 1
@ L1
2
1
® 1
2
(4) V3
+
2
Options :
1. % 1
2. % 2
3.3
4. % 4
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A+B+C=n=tanA+tanB+tanC =

(1 4

(2) tanA tanB+tanBtanC+ tanCtanA
(3) tan (A+B+C)

(4) tanAtanB tanC

Options :
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k241
secl+ tanf =k = kfji =

(1) tan®
(2) cot
(3) cosecH

(4) secH

Options :

1. 8 1
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From a distance of 60 m on the level ground. the angle of elevation of the top
of a building is 45" and the angle of elevation of the top of a flagstaff which is
situated on the top of the building is 60", then the length of the flagstaff, in
meters. 13

..glleg, 45" d,c%,sur_iwjuwlfﬁ.{lr_ﬁuLJ}:()'U :.ilp(i’ﬂ;..{l

KUK dUJﬂagsmﬁL}'ﬁ;ﬁ{}n .:.--:ﬁ,-f‘,;,.ﬂi.;;!&fi%ﬁd»%d}:ljiﬂagstaff

-3/([‘:1“'
(1) 120
(2)  60(v3+1)
(3) 180

4  60(V3-1)

Options :
1. % 1
2. % 2

3.# 3

4.4 4
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Ina triangle ABC. AB=35cm. BC=6cmand CA=7cm. then the length of
the median AD. 1n cm. 1

&HJAD median <*CA = 74BC =6 * AB = 5 em2ABC triangle (]
-j.;"}’il’” J:ur/j'fc(w

) 7

@ 2v7
3) 3v7
@ a7

Options :
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Ina triangle ABC. AB =6 cm. BC =7 cm and AC = 11 ecm. If AD 1s the
altitude from A to the side BC. then the length of BD. in cm. 1s

BC - Azaltitude AD/IAC=11“BC=7‘AB= 6~ABC&lff
ey R EQIBD S A

(1) 3
(2) 18
7
(3) 4
4) 22
Options :
1. % 1
2.9 2
3. % 3
4. % 4
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If the lengths of the diagonals of a thombus are 48cm and 14cm. then the
perimeter of the rhombus. in cm. is

-~ j- . d ,.‘ e "' .
Viu A6 perimeter thombus—sus¢ 4831/ ddiagonalsZrhombus L]

Yy
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If the lengths of the two parallel sides of a trapezium are 18 ¢cm and 12 cm and
. ' 3 . f ' .
its area s 105 cm’. then the distance between the parallel sides. in cm. is

4 > - # < ”j/ - 2
Jeretn 105 cm” JA/IGUn12 cmal]8 cm / BB a2 L

e g e i

1 9
(2) 8
(3} 7
4) 6
Options :
1. % 1
2. % 2
3.3
4. % 4
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If the radi1 of two circles are 6 cm and 18 c¢m and the distance between their

centres 15 9 cm. then the number of common tangents that can be drawn to the
two circles 1s

-~ A L . i # &
Ltangents fbyierx9 cm Lol sk AL 18 cmsl6 cm IS f0s/

?uﬁiﬁuifigﬁiuﬁ'umx

._.
e

-2
e
|

- LS
—

Options:
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A chord of length 8§ cm of a circle subtends an angle 30° at a point on the

circumference of the circle. Then the length of the diameter of the circle,
cm, 1s

LS rviedndl’ J,;JJF..{’IU’“FZ.,JDMJ.&;.{M:‘-H emdUdchord £Jf /L
NSy e
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IfA(5,2);B(6,—15); C(0,0) are the vertices of A ABC, then A ABCis

*A ABC utisof Lk [A(5,2);B(6,~15); C(0,0).))

(1)  right angled
(2)  equilateral

(3)  1sosceles
(

4)  right angled isosceles

Options :

1.9 1
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What is the ratio in which the y-axis divides the line segment joining the
points A(12. -3) and B(3. 6) ?

JA(12,-3) #BG, 6)175332:‘,@&} Sline segment y-axisy4U? e s
T r’:,l;j'
-/

1) 4:1
(2) 3:2
(3) -3:2
4 -4:1
Options

1. % 1
2. % 2
3.% 3
4. ¥ 4
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The ratio in which y-axis divides the line joining the points
A(-4.5)and B(3. -2) 1s

_a;-t“.fibj (A4, 5)4B(3, )56 line joining’ y-axis Qe e

(1) 3:4
2) 4:3
() 32
4 2:5
Options :
1. % 1
2.9 2
3.% 3
4. % 4
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The equation of the line passing through the points A(2. 1) and B(4. 3) 15
e 3l e $F < AQ, DB, 5)46 2ebisbin

(1) y=2x-3
2) y=4x+5
(3) y=2x+1
(4) y=2x+3

Options :
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The sum of x and y intercepts of the line 7x + 4y = 56 13

e 3SE Tx + 4y = 562 ymX

Options :
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The equation of the straight line which is inclined at an angle of 120° to the
positive X-axis and makes y-intercept of 7 units is

YA y—intcrccpt,ulX—axis:.ii;;lq;,ﬁj}f;.fsljé.x&; 120 215115 = s+

D V3y+x+7=0
2) y+V3x-7=0
B) y—3x+7=0
@ —By+x+7=0

Options:
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If the line y = mx + c 1s the perpendicular bisector of the line segment
joining the points A(4,—7) and B(-2,1), then ?:

-fﬁg? =Jny = mx + /It A(4 —7)#B(-2,1)

4. % 4
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If the equation of line joining (2. 1) and (-4. -5) 1s ax + by 4+ ¢ = 0, then
a+h=

$ulfa+ b =dwax+by+c=0°Q2, 14, 5)z2pelia/)
1) -2

3) 0
4 1

Options :

1. % 1

Sub-Section Number : 3
Sub-Section Id : 785674427
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 141 Question Id : 7856743890 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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The mean of the following 50 observations 1s
1,35.7.....99

il 3,5,7,..99 lobal faisles50 )i

(1) 64
(2) 56
(3) 50
4) 48

4. % 4
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The Mean of 6 observations 1s 40. If one observation 15 excluded. then the
mean of the remaining 5 observations becomes 39.the excluded observation 1s

18- 0939 Lo balfzlyls5 ?FL@EJJE',!'/':&E'J_-DJF'-.:';4U eI ML Y
Snfedfupd Ly

— —, — —
= LS 2 et
e " e e
o b ] [
[ h ] h

Options :

1. 8 1
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The anthmetic mean of 24. 4. 12. 8. 36. 48. 20. 16. 28. 32. 40 and k 1s 26.
Thenk =

k=4:24,4,12,8,36,48, 20, 16, 28, 32, 406 1> bsi{]
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Let A ={a,b,a+b,a—4b,ab,2b}. Ifb > 6 and the mean of the set is
b + 3. then the median 18

bab + 3 obaergiinh > 6/IA ={a,b,a+b,a—4b,ab,2b}/

-gﬁy}'uzfdgu’@:q.

(1) 2b+3
2) b+3
3) b+6
4 b+9

Options :
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The median of a data contains 33 observations 1s 71. If another 4 observations
08. 89. 63, 36 are included in the data the median of this new data 1s

oSS98, 89, 63, 36buld s 2] e tnT e (e thl433 2 kKL

_E”;:_lf:: 3K

(1) 74
2) 71
(3) 69
(4) 65
Options :
1. % 1
2.¥ 2
3.% 3
4, % 4
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Four entries are added fo the data 5, 28, 15, 10, 15, 8, 24. If there is no change
in the arithmetic mean and median but its mode 1s increased by 1. then the
four entries (quantities) that are added to the original data are

Bl Aobn Sa  fod S AL L5, 28, 15,10, 15, 8, 24 =bl.04

Y ;,,:siiu*ﬁﬁ;g?n;,:uém.,:_;;,m.iw 12 2 mode s .} £0f

(1) 10,12,12,12
(2) 11.14.14. 14
(3) 12.16.16,16
4) 13.17,17,17

Options :
1. % 1

2. % 2

3.3

4. % 4
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The mode of the following frequency distribution is nearly

-t fmodetfrequency distributiong}i

Family size i3 | 3.5 | 5.7 | 5.0 |55

Number of families

(1) 3.48
2) 3.29
(3) 332
(4) 296

Options:

1. % 1

2.9 2

3. % 3

4, % 4
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If a card 1s selected from a deck of 52 cards. then the probability of it being a
red faced card 1s

L wfiLikred faced .Q,;_q;gTufJf F KLl L3 L 3852

e

3
(D 7
3
2) T3
2
3 T3
1
@ 3
Options :
1.1
2. % 2
3. % 3
4, % 4
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Two dice are thrown once, what 1s the probability of getting a total of 10 on
the faces 1s

St L10 2 Jiiia 110 L dices

(1) 10
36
@ 7
36
G) 4
36
@ 3
36
Options :
1. % 1
2. % 2
3. % 3
4.v 4
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A bag contamns 4 white and 6 black balls. What 1s the probability of drawing
two balls in succession without replacement so that the first ball 1s white and
the second 1s black?

_;'L{'iq/é!pmhability ‘balls Lidbd 82 gL s K6 si-d ufuL.? 2y

-pfﬁg.ﬁﬁg st ke Sopd

(1) 4
15
(2) 6
15
(3) 10
15
4) 12
15
Options :
1.9 1
2. % 2
3.% 3
4, % 4
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Section Marks : 50
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Clear Response:
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Sub-Section Number : 1
Sub-Section Id : 785674428
Question Shuffling Allowed : Yes
Is Section Default? : null
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Part 1: Meanings (sentences with dashes)
Disregard for other people 1s
(1) respect
(2)  callousness

(3) 1insult

(4) concern

Options :

Question Number : 152 Question Id : 7856743901 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 1: Meanings (sentences with dashes)

Persuade by flattery or coaxing

(1) cajole
(2) caress
(3) threaten

(4) wam

Options :

Question Number : 153 Question Id : 7856743902 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 1: Meanings (sentences with dashes)

One who rules the country by force

(1) democrat
(2)  demagogue
(3) bureaucrat

(4)  dictator



Options :

1. 8 1
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Part 1: Meanings (sentences with dashes)

Kindness or generosify in bestowing gifts or money 1s

(1) largesse
(2)  stinginess
(3) largeness

(4) smallness

Options :

1.1
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Correct Marks : 1 Wrong Marks : 0



Part 1: Meanings (sentences with dashes)

To look at something quickly and secretly, especially through a small opening

(1) spy
(2) probe

(3)  peep
(4) espy

Options :

Sub-Section Number : 2
Sub-Section Id : 785674429
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 156 Question Id : 7856743905 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms



The most appropriate synonym of ‘emulate’

(1)  surpass
(2) mimic
(3) inflate
(4) augment

Options :

Question Number : 157 Question Id : 7856743906 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Part 2: Synonyms and Antonyms
The most appropnate synonym of ‘stentorian’
(1) thunderous
(2) pleasing

(3) musical

(4)  gratifying

Options:



® 3

4. % 4

Question Number : 158 Question Id : 7856743907 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms

The most appropriate antonym of ‘exude’

(1) exclude
(2) refuse

(3) conceal
(4)  display

Options :

Question Number : 159 Question Id : 7856743908 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms



The most appropriate antonym of word “urbane’

(1) sophisticated
(2) uncouth

(3) poised

(4) rural

Options :

Question Number : 160 Question Id : 7856743909 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms

The most approprate antonym of the word ‘conducive’

(1)  productive
(2 competent
(3) adverse

(4)  fruatful

Options:



4. % 4
Sub-Section Number : 3
Sub-Section Id : 785674430
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 161 Question Id : 7856743910 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

By the time the boy entered the classroom others

(1) leave
(2)  have left
(3)  will have left

(4)  were leaving

Options:

1. % 1

Question Number : 162 Question Id : 7856743911 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

English in many countries in the world.

(1) was speaking
(2) spoken

(3) 1sspoken

(4)  had been spoken

Options :

Question Number : 163 Question Id : 7856743912 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

The mimister for New Delhi yesterday.
(1) left
(2)  has left

(3) Has been left
(4)  had been left



Options :

1.9 1

Question Number : 164 Question Id : 7856743913 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

The old man here for many years now.

(1) had lived
(2) lived
(3) was hiving

(4)  has lived

Options :
1. % 1

2. % 2

Question Number : 165 Question Id : 7856743914 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Part 3: Verb (Tense & Voice)

The boy gave a surprise to his father

(Change the voice)

(1)  The father received a surpnse from his boy.
(2)  The father had recerved a surprise.
(3)  The father was given a surprise by the boy.

(4)  The father was being given a surprise by the boy.

Options :

Sub-Section Number : 4
Sub-Section Id : 785674431
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 166 Question Id : 7856743915 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms



I can testify his honesty.

(1) for
() to
(3) on

(4) upon

Question Number : 167 Question Id : 7856743916 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms

My grandfather 1s hard hearing.
(1) on
(2) at
(3) of
(4) off
Options :
1. % 1



Question Number : 168 Question Id : 7856743917 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms

He jumped the opportunity of gomg abroad.

(1) at

(2) on
(3) for
(4) off
Options :
1.1
2. % 2
3.# 3
4, % 4

Question Number : 169 Question Id : 7856743918 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms



After retirement, he became a couch potato. The underlined 1diom means

(1)  an active person
(2)  ahefty person
(3)  aweak person
(4) alazy person

Options :

Question Number : 170 Question Id : 7856743919 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms

You have to think big 1f you want to achieve anything. The underlined idiom means

(1)  thmk too much
(2)  have ambitious plans
(3) think calmly

(4)  consider modest plans

Options :
1. % 1

2. 2



3. 3

4, % 4

Sub-Section Number : 5
Sub-Section Id : 785674432
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 171 Question Id : 7856743920 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions

Kalidasa 1s Shakespeare of India.
(1) a
(2)  the
(3) an
(4) one
Options :
1. % 1
2.9 2
3. % 3
4, % 4

Question Number : 172 Question Id : 7856743921 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Part 5: Articles & Prepositions

I saw an old man near bus stop.

2)  our

3) the

Question Number : 173 Question Id : 7856743922 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions

As he did not pay the dues, the electricity has been cut .

(1) up
(2) of
(3) out
(4) off
Options:

1. % 1



Question Number : 174 Question Id : 7856743923 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions

Our company 1s nOw a firm footmng.
(1) 1n
(2) on
(3) to
(4) at
Options :
1. % 1
2.9 2
3.% 3
4, % 4

Question Number : 175 Question Id : 7856743924 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions



Gulliver’s Travels 1s a book children.

(1) for

(2) of

(3) to

(4)  upon
Options :
1.1
2.8 2
3.2 3
4, % 4
Sub-Section Number : 6
Sub-Section Id : 785674433
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 176 Question Id : 7856743925 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 6: Computer Terminology

We use the rules of encrypted to ex-change files over the ternet.
(1) FTPIP
(2) Hyperlink
(3) HTML
(4) HTTP

Options :



Question Number : 177 Question Id : 7856743926 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 6: Computer Terminology

World Wide Web was invented by .

(1) Tim Berners-Lee

(2)  Vinton Gray Cerf
(3)  Charles Babbage

(4) Robert Kahn

Options:
1.9 1
2. % 2
3.% 3

4, % 4

Question Number : 178 Question Id : 7856743927 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Part 6: Computer Terminology

A piece of data that is stored within a web-browser and retrieved at a later time 15 called a

(1) Bug

(2) Cookie
(3) Hyperlink
(4)  Hyperloop

Options :

Question Number : 179 Question Id : 7856743928 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Part 6: Computer Terminology
DNS 1s the short form of
(1)  Disk Numbering System
(2)  Data Number Sequence

(3)  Domaimn Name System

(4) Digital Network Service

Options :



Question Number : 180 Question Id : 7856743929 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 6: Computer Terminology

Which one of the following serves as a reference pomt that connects a particular page to other

pages on the web page?

(1) Reference
(2) Web link
(3)  Referral code
(4) Hyperlink

Options :

4.v 4

Sub-Section Number : 7
Sub-Section Id : 785674434
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 181 Question Id : 7856743930 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 7: Business Terminology

Making a list of a company’'s physical assets 1s known as

(1)  background check
(2 filing
(3) 1nventory

(4) credit check

Options :

Question Number : 182 Question Id : 7856743931 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 7: Business Terminology
A contract that prohibits an employee from switching to a competing company s called

(1) mception option.
(2)  business conduct manual.
(3) non-compete agreement.

(4)  paralegal clause.



Options :

1. 8 1

Question Number : 183 Question Id : 7856743932 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 7: Business Terminology

A company’s positive resources are considered as

(1) assets.
(2)  habilities.
(3) contracts.

(4)  working capital.

Options :
1.9 1
2. % 2
3.% 3

4, % 4

Question Number : 184 Question Id : 7856743933 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Part 7: Business Terminology

The movement of finished goods from production to the customer 1s

(1)  physical supply
(2)  physical distribution
(3)  supply cham

(4)  conversion cycle

Options :

Question Number : 185 Question Id : 7856743934 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 7: Business Terminology

Individual ownership 1s called

(1)  Cooperative society.

(2)  Joint trade agreement.
(3)  Partnership management.
(4)  Sole proprietorship.

Options :

1. % 1

2.



® 2

3. % 3

4.9 4

Sub-Section Number : 8
Sub-Section Id : 785674435
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 7856743935 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (186 to 190)

Part 8: Comprehension

Freedom and power bring responstbility. The responsibility rests upon this assembly,
a sovereign body representing the sovereign people of India. Before the birth of freedom, we
have endured all the pains of labour and our hearts are heavy with the memory of this sorrow.

That future 15 not one of ease of resting but of incessant striving so that we may fulfil
the pledges we have so often taken and the one we shall take today. The service of India means
the service of the nullions who suffer. It means the ending of poverty and ignorance and disease
and mequality of opporfunity.

The ambition of the greatest man of our generation has been to wipe every tear from
every eye. That may be beyond us, but as long as there are tears and suffering, so long our work
will not be over.

And so, we have fo labour and to work, and work hard, fo give reality to our dreams.
Those dreams are for India, but they are also for the world, for all the nations and peoples are
too closely kit together today for anyone of them to imagine that 1t can live apart. __

To the people of India, whose representatives we are, we make an appeal to join us with
farth and confidence 1n this great adventure. Thus 15 no time for pretty and destructive crificism,
no time for 1ll-will or blaming others. We have to build the nobble mansion of free India where
all her cluldren may dwell

Sub questions

Question Number : 186 Question Id : 7856743936 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

What 15 the ‘Sovereign body representing the sovereign people of India’ referred fo mn the

passage?

(1)  The Parliament of India.

(2)  The Assembly of a state.

(3)  The Constituent Assembly of India
(4)  The Constitution of India.

Options :

Question Number : 187 Question Id : 7856743937 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

According to the speaker, India means

(1)  1ts geographical boundaries.
(2)  1ts members of parliament.
(3)  1ts leaders.

(4)  1ts people.



Options :

1. 8 1

Question Number : 188 Question Id : 7856743938 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

The speaker dreams of better future for

(1) India only
(2)  the countries other than India only.
(3) India and the world.

(4)  the leaders representing India.

Options :

1. 8 1

Question Number : 189 Question Id : 7856743939 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

The speaker 1s agamst i

(1)  crticism of any kind.
(2)  healthy criticism.
(3)  unhealthy crificism.

(4) constructive crificism.

Options:

Question Number : 190 Question Id : 7856743940 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

The tone of the passage 15

(1)  sorrowful

(2 1TOnIC.

(3)  idealistic.

(4)  light-hearted.

Options :



1.8 1

2. % 2

3.3

4, % 4

Sub-Section Number : 9
Sub-Section Id : 785674436
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856743941 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (191 to 195)

Part 8: Comprehension

The most frightening aspect of malnutnition 15 that it 1s likely fo cause permanent
damage to the bram. Expenments carried out on ammals suggest that brain damage due fo
malnutrition 1s irreversible. This may not be true of human bemgs. Nevertheless, known facts
as well as results of tests conducted so far pomt to alarmmng conclusions. The human brain
orows very fast. Three months before its brth, the cluld’s brain weighs one-fourth of the adult’s
brain. In one year, the brain of the chuld 15 already 66 percent of the weight of the adult bramn.
At four years, the brain weighs 90 per cent and at eight the child’s brain 1s the size of an adult’s
and there is no further increase. Quite obviously, the fust four years are crucial for the
development of the brain. And if the child suffers from malnutrition, the damage to the brain
may well be permanent.

Thanks to the systematic research of the National Institute of Nutnition, Hyderabad, we
are able to address at least some aspects of the problem of malnutrition m tlus country. For
instance, 1t was found that the addition of 10dine m the lake-water salt consumed in the Sub-
Himalayan region would go a long way to controlling goitre. Agam experiments made by the
Institute reveal that mexpensive green leafy vegetables are a good alternative to eggs and butter
as rich source of Vitamin A

Sub questions



Question Number : 191 Question Id : 7856743942 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

When does the cluld’s brain attain full growth?

(1)  at the age of eighteen.
(2)  at the time of birth itself.
(3)  at the age of four.

(4)  at the age of eight.

Options :
1. % 1

2. % 2

Question Number : 192 Question Id : 7856743943 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension



Which period 1s important for the development of human bram?

(1)  the first four years
(2) infancy

(3)  vouth

(4) oldage

Options :

Question Number : 193 Question Id : 7856743944 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

The reason for brain damage 1s

(1) anger

(2)  good nourishment.

(3) lack of proper nourishment.
(4)  junk food

Options :



¥ 3

4, % 4

Question Number : 194 Question Id : 7856743945 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

Which of the following statements 1s true?

(1) Human bram grows continuously throughout life.
(2)  Brain damage due to malnutrition 15 reversible in animals.
(3)  Brain damage due to malnutrition 15 irreversible in animals.

(4)  Gottre can be controlled by avoiding 10dised salt.

Options :

Question Number : 195 Question Id : 7856743946 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension



“The addition of 10dine in the lake-water salt consumed 1n the sub-Himalayan region would go

a long way to controlling goitre.

(1)  Takes a long time to achieve success in controlling goitre.
(2)  An mmportant factor m achieving success 15 controlling goitre.
(3)  Travel a long distance 1s controlling goitre.

(4)  Makes 1t quite dafficult to achieve success in controlling gortre.

Options :

Sub-Section Number : 10
Sub-Section Id : 785674437
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856743947 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (196 to 200)

Part 8: Comprehension



The last few years have ushered in a harsh reality where crises are the norm rather than
the exception. Pandenucs, economic slumps and extreme weather events were once tail-end
nisks but all the three have lut South Asia in rapid succession smnce 2020. This 1s deeply
distressing because the knowledge, skills and health that people accumulate — their human
capital — 15 a cnifical source of the resilience what countries rely on for recovery. Globally,
countries that have systems in place to support individuals and fanulies before a crisis spikes,
can befter protect their citizens during the crisis. Human development systems must be agile,
restlient and adaptive. Such systems will help countries befter respond fo future shocks as well.
Crises are unpredictable, and often present rapidly changing circumstances. A well-functioning
system 1s one that can spring nto action the moment a shock strikes, ensure essential services
such as health care and learming remain uninterrupted. Since services are provided by different
ndividual sectors, human development systems must be able to coordinate effictently across
sectors. The road ahead for South Asia 15 rocky. A robust human development system would
not only mutigate the damage but also help ensure lives and livelihoods are protected.

Sub questions

Question Number : 196 Question Id : 7856743948 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

In recent times South Asia has experienced

(1)  robust growth in human skills.
(2)  unforeseen upheavals.
(3)  surge in human capital.
(4)  growth in healthcare.
Options :
1. % 1
2.9 2

3.# 3

4. % 4



Question Number : 197 Question Id : 7856743949 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

What 1s needed for rapid recovery from a crisis?

(1) human capatal
(2)  political will
(3) econonuc slump

(4) ncome growth

Options :
1.9 1
2. % 2
3.% 3

4. % 4

Question Number : 198 Question Id : 7856743950 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension



Human development systems must be

(1) protective.
(2 dynamic.
(3) docile.

(4) crtical.

Options:

Question Number : 199 Question Id : 7856743951 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

A functioning system ensures

(1)  passive response.
(2)  frequency of crises.
(3) tumely response.

(4)  individual mitiative.

Options :



Question Number : 200 Question Id : 7856743952 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

A robust human development system would
(1) 1ncrease the damage.
(2 weaken the education sector.

(3)  strengthen the health sector.
(4)  protect the lives and livelithood.

Options :



